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9x> — 80x% +208x — 128 = 0 X+ 2% —49x— 98 =0

X+ 4x* —35x— 150 = 0 O+ -9%x—-63=0

X =13 +47x—35=0 X102 +23x—14=0

X +x*—10x+8=0 9x> — 170x> + 873x — 648 = 0
6x° — 29x* — 106x + 105 = 0 2+ 15X +9x— 54 =0
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9> — 80x% +208x — 128 = 0
8

2, 4,4
9

x:

X +4x> —35x— 150 = 0
x=6,-5,—-5

X — 132 +47x—35=0
x=7.5,1

©+x—10x+8=0
x=21,—4

6x° — 29x% — 106x + 105 =0
. —3.7

ANl

x:

X+ 27 —49x— 98 = 0
x=-2,-7,7

X+ —-9%—63=0
x=3,-7,-3

X —10x°> +23x— 14 =0
x=7.1,2

9> — 170x% + 873x — 648 = 0

20+ 152 +9%x—54=0

x:

3
2
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